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Math 12 Foundations

Chapter 1 Review
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2. Steve is celebrating his 18ch birthday.
C) On his 5th bﬂmi&}? 3is grandmother bought.
him a $10 000 GIC thar earns 6.3% simple
; inferest. o
2% On the same birthday, his grandfather bought
him a $7000 CSB thar carns 11.4% simple
interest k’

a) Whatis thf: value of each invesrrnent now?
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3. Fxamine these two investuments, and then
answer the questions below.
. Soma invested in a $2000 GIC that earns 6.2%

imple interest, paid annually, for 3 years.

s ;zg;m;b{aughi 2 $2000 GIC that earns 5.53%
compounded monthly, fora 5-year term.

a) Predict which investment will have the
‘greater rate of rerurn. Explain.

by Verify your prediction.

¢} Explain the difference in the interest earned

o1 the /o investments.
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5. Kyle invesred $900 in 2n account thar earned
interest, compounded daily. After 1 vear, her
investment was worth $1000. Whar was the
annual rare of inrerest?




6. Phil and his daughter Lina opened accounts at
different times. Fach account earned 6.53%,
compounded semi-arnually.

+ Phil kept his account for 18 years and now
has $125 000 in the account.
» Lina kept her account for 36 years and now
has $123 000 in the account.
al Who invested the gfﬁﬁfé!’ principal? How
much more did he or she invest? |
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8. Mary decided to invest $800 per mc:mh fs}r thc:
next 6 years. She plans to start her own business

mak

for ber STATE-up COSTs.

« Bank A has offered her 12.2%

monthly.

» Bank B has offered her 11.4%, compounded

monthly.

If Mary chooses bank A, how much more

money will

cing lunches for the elementary schools in
her area, but she needs to save enough money

X cgmpaundﬁd

she end up with?
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d) Whar annusl de eposit would Jeff have

investments anrl
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ue of each invesement?
b) How much did cach man invesr ale together?
¢} Hew much interest did each man earn?

needed
to make if he had wanted his investment
to have the same furure value as Josh's

rvestment at age 637
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11. When Chandra was 8 years old, an investment.
portfolio was started for her education.
m\ = Her parents deposited $450 every 3 months
into a savings account that earns 4.5%,

P mmp&und&d quarterly.

-

@ » Her grandparents invested $5000 in a trust
account that earns an average annual interest
rate of 6%, compounded annually.

a) Chandra plans to redeem her portfolio when

she rurns 18 to pay for universioy:
i) Whar will be the value of her portfolio?

} Whar was the pordolio’s rate of rerurn?

b, o 08 -
riR = o0 _oon
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thﬁ md of every year for 10 years, which sarns \

& 99, compounded armually

- ¥
f

Pasrtolio 2

& 1C0-year $25 000 GIC, p urchased 10 - VEATS
ago, thar earns 8.

compounded moathly
ﬁil vear $10 000 C :;B purchased 10 year
250, ﬂi&f earns 6.4%, compounded ammm@if N
An irvestment invols ving deposits of $1250 ar iy
the end of every 6 mmuhv for 10 vears, which ¢
earms 4 5%, CDE"lPOU,HdECE semi-annuall
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